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Note : Answer the questions as per the instructions 

given for each Section. 

 Section A : Answer any two questions from 

this Section. 

 Section B : Answer any four questions from 

this Section. 

 Section C : Write short notes on any two 

(100 to 150 words each). 



 [ 2 ] BECE–214 

   

Section—A 

1. (a) Mention the determinants of agricultural 

development. 10+10=20 

(b) According to Kuznets what is the 

contribution of the agricultural sector to 

the overall economic development of a 

country ? 

2. Mention the four major planks of land reform 

legislation, and discuss the difficulties in 

designing and implementation of land reforms 

in India.   20 

3. What is ‘irrigation scheduling’ ? State the four 

advantages of ‘conjunctive use of water.’  20 

4. (a) What is marketing channel ? Explain the 

inadequacy of agricultural marketing 

system. 10+10=20 

(a) Discuss the programmes for improving the 

livelihood status of agricultural labour.  

Section—B 

5. (a) Explain the trends in land utilization 

pattern in India. 6+6=12 

(b) Describe the types of social forestry.  

6. Explain the role of capital formation in Indian 

agriculture. 12  
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7. Define food security. Discuss the negative as 

well as positive effects of government policy on 

food security.  12 

8. (a) Explain the Bi-Partite and Tri-Partite 

models.  

(b) What are the conditions for success of 

contract farming with special reference to 

small producers ? 

9. Is it necessary for per-capita food consumption 

to always increase when there is increase in 

per-capital food availability ? If not, state the 

context with implications, when such of 

situation might occur ? 12 

10. Discuss the export import (EXIM) policy of 

India.    12 

11. Discuss the institutional, technological and 

sociological reasons for low agricultural 

productivity in India. 12  

Section—C 

12. Write short notes on any two of the following in 

about 100 to 150 words each : 6+6=12 

(a) Cottage industry and small scale industry.  

(b) Commercialization of agriculture.   

(c) Agricultural Diversification in India.  
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